LAMPIRAN

Program Arduino Nano
unsigned long previousMillis = 0;
const long interval = 1000;

const int dirPin = 4;
const int stepPin = 5;
const int stepsPerRevolution = 200;

#include <Wire.h>
#include <LiquidCrystal_12C.h>
LiquidCrystal_I2C lcd(0x27, 16, 2);

#include <DS3231.h>
DS3231 rtc(SDA, SCL);
Time t;

int langka;

void setup()

Icd.begin();

Icd.backlight();
Serial.begin(115200);
rtc.begin();

pinMode(6, OUTPUT);
pinMode(7, OUTPUT);
digitalWrite(7, LOW);// stop
analogWrite(6, 0);

pinMode(8, OUTPUT);
pinMode(9, OUTPUT);
digitalWrite(8, HIGH);
digitalWrite(9, HIGH);

pinMode(11, INPUT_PULLUP);
pinMode(12, INPUT_PULLUP);

/I The following lines can be uncommented to set the date and time
Il rtc.setDOW(MONDAY); /I Set Day-of-Week to SUNDAY
/[ rtc.setTime(2, 25, 0);  // Set the time to 12:00:00 (24hr format)
Il rtc.setDate(1, 7, 2024); // Set the date to January 1st, 2014
stepper_home();
while (digitalRead(12) == HIGH) {

digitalWrite(7, HIGH);// naik

analogWrite(6, 255 - 100);



¥
digitalWrite(7, LOW);// stop
analogWrite(6, 0);

¥

int potl, pot2, pot3;

void loop()

{
potl = map(analogRead(A0), 1023, 0, 0, 100);
pot2 = map(analogRead(A1l), 1023, 0, 0, 100);
pot3 = map(analogRead(A2), 1023, 0, 0, 100);
Serial.print(digitalRead(11));
Serial.print(" || ");
Serial.printin(digitalRead(12));

tampil();

if (potl <=50) {
Icd.clear();
Icd.print("Siram pot 1");
stepper_home();
siram_air(1, 1);

}

if (pot2 <=150) {
Icd.clear();
Icd.print("Siram pot 2");
if (langka < 40) {
for (int i = langka; i < 40; i++) {
stepper_maju();
¥

siram_air(2, 1);

¥

else if (langka > 40) {
for (int i = langka; i > 40; i--) {

stepper_mundur();

¥
siram_air(2, 1);

¥

}

if (pot3 <=50) {
Icd.clear();
Icd.print("Siram pot 3");
if (langka < 90) {
for (inti = langka; i < 90; i++) {
stepper_maju();



}

siram_air(3, 1);
}
¥

if (ttmin==1) {
siram_rtc();

else if (t.min ==5) {

siram_rtc();

¥

else if (t.min == 10) {
siram_rtc();

¥

else if (t.min == 15) {
siram_rtc();

¥

else if (t.min == 20) {
siram_rtc();

¥

else if (t.min == 25) {
siram_rtc();

¥

else if (t.min == 30) {
siram_rtc();

¥

else if (t.min == 35) {
siram_rtc();

¥

else if (t.min == 40) {
siram_rtc();

¥

else if (t.min == 45) {
siram_rtc();

¥

i

void stepper_home() {
while (digitalRead(11) == HIGH) {



stepper_mundur();
Icd.setCursor(0, 0);
Icd.print("Kalibrasi™);
Icd.setCursor(0, 1);
Icd.print("pin =);
Icd.print(digitalRead(11));

}

langka = 0;

Icd.clear();

}

void stepper_maju() {
langka++;
Icd.setCursor(12, 0);
Icd.print(langka);
lcd.print(" ™);
digitalWrite(dirPin, LOW);
for (int x = 0; x < stepsPerRevolution; x++)

digitalWrite(stepPin, HIGH);
delayMicroseconds(500);
digitalWrite(stepPin, LOW);
delayMicroseconds(500);
¥
}

void stepper_mundur() {
langka--;
Icd.setCursor(12, 0);
Icd.print(langka);
lcd.print(" ™);
digitalWrite(dirPin, HIGH);
for (int x = 0; x < stepsPerRevolution; x++)
{
digitalWrite(stepPin, HIGH);
delayMicroseconds(500);
digitalWrite(stepPin, LOW);
delayMicroseconds(500);
}
¥

void tampil() {
Serial.print("Today is the ");
Serial.print(t.date, DEC);
Serial.print(". day of ");
Serial.print(rtc.getMonthStr());



Serial.print(" in the year ");
t = rtc.getTime();
Icd.setCursor(0, 0);
Icd.print(t.date);
Icd.print("-");
Icd.print(rtc.getMonthStr());
lcd.print(" ™);
Icd.print(t.hour, DEC);
Icd.print("-");
Icd.print(t.min, DEC);

Icd.setCursor(0, 1);
Icd.print(potl);
lcd.print(" ™);
Icd.setCursor(5, 1);
Icd.print(pot2);
lcd.print(" ™);
Icd.setCursor(10, 1);
Icd.print(pot3);
lcd.print(" ™);

Serial.print("A0: ");
Serial.print(analogRead(A0));
Serial.print(" || AL: ");
Serial.print(analogRead(Al));
Serial.print(" || A2: ");
Serial.print(analogRead(A2));
Serial.printin();
Serial.print(rtc.getDOWStr());
Serial.print(" ");
/I Send date over serial connection
Serial.print("Today is the ");
Serial.print(t.date, DEC);
Serial.print(". day of ");
Serial.print(rtc.getMonthStr());
Serial.print(" in the year ");
Serial.print(t.year, DEC);
Serial.print(" -- ");
Serial.printin(rtc.getTimeStr());
¥

void siram_air(int pot, int tipe) {
Icd.clear();
Icd.print("Turunkan™);
Icd.setCursor(0, 1);
Icd.print("pot: " + String(pot));



analogWrite(6, 100);
digitalWrite(7, LOW);// turun
delay(10000);
Icd.clear();
Icd.print("Turunkan™);
Icd.setCursor(0, 1);
Icd.print("Aktif Penyiram™);
if (tipe==1){

digitalWrite(8, LOW); // siram
by
else if (tipe ==2) {

digitalWrite(9, LOW); // siram petisida
¥
delay(10000);
Icd.clear();
Icd.print("stop gerak™);
Icd.setCursor(0, 1);
lcd.print("Aktif Penyiram™);
analogWrite(6, 0);
digitalWrite(7, LOW);// stop
digitalWrite(8, HIGH); // stop siram
digitalWrite(9, HIGH); // stop siram petisida
delay(2000);
Icd.clear();
Icd.print("naik™);
Icd.setCursor(0, 1);
Icd.print("Aktif Penyiram™);
analogWrite(6, 255 - 100);
digitalWrite(7, HIGH);// naik
if (tipe==1){

digitalWrite(8, LOW); // siram

¥
else if (tipe ==2) {
digitalWrite(9, HIGH); // siram petisida
¥
delay(10000);
Icd.clear();
Icd.print("naik™);
Icd.setCursor(0, 1);
Icd.print("stop Penyiram™);
digitalWrite(8, HIGH); // stop siram

while (digitalRead(12) == HIGH) {
digitalWrite(7, HIGH);// naik
analogWrite(6, 255 - 100);

b



}

void siram_rtc() {

Icd.clear();

Icd.setCursor(0, 1);

Icd.print("Siram RTC");

stepper_home();

siram_air(1, 2);

for (int i = langka; i < 40; i++) {
stepper_maju();

¥

siram_air(2, 2);

for (inti = langka; i < 90; i++) {
stepper_maju();

siram_air(3, 2);

}






























